I
iy

M 6 £

Xt

T 6 FERMME (KEF ~ B8P i X) Mg (-14m) ZE TS (B2R)

FupN 5 B

] B #BIEEXE
& B #ERsE
BEo#My IEE
BEES 18-21-24-024



BHHEENRE H164 ERAPIBE (K ~ B8R F H BOMBE(—14m)iB i TH(HE2R)

4 b g - KR BT #H =2 B * H =

EHEISE 165, 998, 457
& (-14m) 165, 998, 457
BET 123, 415, 906
S JRRT 123, 415, 906
578 123, 415, 906
1-1 BLRRED VHEY T8 N{E30~50kE /KFE15mEE 4.00 8,735 34, 940

m3
1-2 B8R EQ B B®E  KEISERHE 941. 00 9,394 8,839, 754

m3
1-3 BE8EEQ B B®E  KEI5~30mKH 1, 046. 00 9,394 9,826, 124

m3
1-4 BLIRRED A 8B KFEISNEKH 3, 968. 00 14, 091 55,913,088

m3
1-5 ELIRREOG =i hE  KFEI5~3I0mEKH 3, 280. 00 14, 091 46, 218, 480

m3
1-6 U5 JREMBELER HER 1.00 2,583,520 2,583, 520

=
T 42,582, 551
TEMEWMT 25,896,917
TE M E R 25,896,917
1-7 LEMER THEAHAEAIE 9,239.00 2,803 25,896,917

m3
T 16, 685, 634
BEY ®A 16, 685, 634
1-8 FELY A THAHAEAIE 9,239.00 1, 806 16, 685, 634

m3




BHEENRE AHM6EEEMIMBCERE ~ R RS- 14m)R 2 THE2R)
% L IR - WAKTiE B = B {f oo ) i
HBREEFEL) 22,710, 985
HBRER 22,710, 985
HBIREE 22,710, 985
Eff - ZVVRE 4,242,508
2 0B 4,242,508
1-9 Z LMRED- D37 REEM RELA2F) SAD11.5m3 TR E~/NEiE 1.00 1,385,076 1,385,076
(fEE&) 5
1-10 2 WMRED-2 957 B GELER) SD11.5m3 /IEE~TEE 1.00 1,385,076 1,385,076
(1B E&) -
1-11 ZLOMEO-1 TiEM1300m3FE (1£5]) FWBE~/NEE (ER) 1.00 368, 089 368, 089
[B]
1-12 Z LMEO-2 1EM1300m3FE (1£5]) IMEBE~FNRE (ER) 1.00 368, 089 368, 089
[B]
1-13 Z LMER-1 TiEM1300m3FE (1£5]) FWBE~/NEE (ER) 1.00 368, 089 368, 089
[B]
1-14 2 WMRE®R-2 1EM1300m3FE (1£5]) IMEBE~FNRE (ER) 1.00 368, 089 368, 089
[B]
EEELHLEBRE 7,042, 866
IKE 5 AR LIS 203, 366
1-15 EEBH LSRRI E 1.00 203, 366 203, 366
=
IKE 5 AR L 6, 839, 500
1-16 EBBFILBRRE 1.00 1,277,200 1,277,200
=
1-17 BFALLREE 1.00 1,081,500 1,081,500
=
1-18 EEBFIL BB % 1.00 4, 480, 800 4, 480, 800




BHBEERNRE

HH6EERMPIMBBKEF ~ RIREF EOMR(-14m)RRTRE2R)

4 [} R - KT B 8 2 B M & £ i

ZEE 11,222, 949

RERE 3,172,433

1-19 REERMO BKIEER 1.00 1,167, 548 1,167, 548
=%

1-20 REERMO BEE 1.00 268, 421 268, 421
=%

1-21 REERMO TEMERE 1.00 119, 239 119, 239
=%

1-22 [RERMD BKIEER 1.00 1,318, 861 1,318, 861
=%

1-23 KM BIEE 1.00 298, 364 298, 364
=%

& 8,050, 516

1-24 %4 20. 00 7,981 159, 620
th 2

1-25 #HKZEE 14, 140. 00 536 7,579, 040
m2

1-26 $MEZS/ER 1.00 111, 856 111, 856
=%

1-27 £BRER 1.00 200, 000 200, 000
=%

KE - BEZREH 102, 662

KE R 74,026

1-28 KERERHD 55 JRER M11.5mIx1E 1.00 33,118 33,118
=%

1-29 KERBEHO AT SERR1300m3%FE x 28 1.00 9, 090 9,090




BHHEENRE H164 ERAPIBE (K ~ B8R F H BOMBE(—14m)iB i TH(HE2R)

% L IR - WAKTiE B B = B {f oo ) S

1-30 kEREHO BKEMxTE 1.00 31,818 31,818

=
SERBEE 28, 636
1-31 EEREH BKE GBKEEE) xTA 1.00 28, 636 28, 636

=
BiiEEE 100, 000
BitigE 100, 000
1-32 B EEE HEREPRAEXIIE 1.00 100, 000 100, 000

=
BEIEE 3,968, 756
HEER 3,968, 756
TILFE—LBE 3,968, 756
TILFE—LBE 3, 868, 756
BIEXH 345,030
2-1 GBI i (ICT) 1.00 181, 244 181, 244

=
2-2 HFHEHRR (1) BRI 1.00 81,893 81,893

=
2-3 HFHEHRR (2) 1% T B 1.00 81,893 81,893

=
KERE 1,392,049
2-4 fEETX A ICT) () BRI 1.00 641, 808 641, 808

=
2-5 fEET X K~ (ICT) (2) % T B 1.00 641, 808 641, 808

=




BHHEENRE H164 ERAPIBE (K ~ B8R F H BOMBE(—14m)iB i TH(HE2R)

£ g R - KT BfI 8 2 B M ki £ wmE
2-6 A (ICT) (1) LR 0.04 534, 251 21,370
km2
2-7 AE(CT) (2) % THF 0.04 2,176, 581 87,063
km2
[5Z] 2,131,671
2-8 RBIFFT—4 B (ICT) (1) TR 1.00 614, 796 614, 796
=
2-9 MIBT—2BB(GRET) (ICT) () BRI 1.00 1,516, 881 1,516, 881
=
EEREE 100, 000
[5Z 100, 000
2-10 ¥#EBERR 1.00 100, 000 100, 000
=
B[R 267, 285
BEXHE 267, 285
TILFE—LBIE 267, 285
EEAGE 259, 500
[5Z] 259, 500
3-1 3RFTERETT— 4 VERL (ICT) 1.00 259, 500 259, 500
B
EERE 7,785
[5Z] 7,785
32 EHEARE 1.00 7,785 7,185
=




SHBERER S EEPIMBOCER ~ R LR MBI 4m)iR % THE2R)

£ b B - KT B % =2 L] ® & W=
EEIEE 165, 998, 457
BEIER 37,713,666 + 40,497,970 78,211,636
HBERERE GH 22,710,985 + 14,483 558 + 519,123 37,713, 666
HBRHE (BLE) 22,710, 985
HBEREE (X ) 173,041,323 x 8.37% ((4.85% x1.28 +2.00%) x 1.02) 14, 483, 558
BSRENER 173,041,323 x 0.30% 519,123
R f it 203,712,123 x 19.88% ((17.46% +1.84%) x 1.03) 40,497,970
TR 165,998, 457 + 78,211,636 244,210, 093
—REBEES 244,210,093 x 15.17% (15.17% x 1.00) — 4,448 37,042,223
RREEE 244,210,093 x 0. 04% 97,684
T H{fits 244,210,093 + 37,042,223 + 97,684 281, 350, 000
EEIEH 3,968, 756
B 3,968,756 x 73.0% — 5,947 2,891, 244
REBEE 3,968,756 + 2,891,244 6, 860, 000
e TT 6, 860, 000
E R 259,500 + 7,785 267, 285
EEAGE 259, 500




SHBERER S EEPIMBOCER ~ R LR MBI 4m)iR % THE2R)

£ b B - BT B % =2 B @ ® & W=
EERE 7,785
T DAt R f 259,500 x 53.85% ( 35% = (1 — 35%) ) 139, 740
e i 267,285 + 139,740 407, 025
—REEES 407,025 x 53.85% (35% = (1 — 35%) ) — 6,207 212, 975
ES {id 407,025 + 212,975 620, 000
BEHEE 281,350,000 + 6,860,000 + 620,000 288, 830, 000
HERERLE 288,830,000 x 10.00% 28, 883, 000
EATISE 317, 713, 000




Rifiz -/ \v7r—o

HN6FEREMMER(KHEF ~ R8P HhEOMEB(—14m)RETEE2R)

&5 :1-1
W EEEEED VWHEYIR NE30~L0%KE JKiZE15mKE 1B&Y (684m 3)
2 b g - BIRTE By = B O %8 W = " =
55 JREMEELER) (R/\y FX) $8D 11.5m3
B 1.00 5,517, 203.00 5,517,203/8.00H / 10H
S (U3 TigEMm(R/Sy FR)) $MD 2000PSE!
B 1.00 427,818.00 427,818/2.00H / 8H
MR EXENOY
% 0.50 5,945, 021.00 29, 725
& B YEZERES : 684.00m 3 8,735.00 5,974,746
&5 :1-2
£ ELBERRQ A HE KRISnERHE 1HHY (636m 3)
2 b g - BIRTE By = B O %8 W E " =
55 JREMEELER) (R/8y FX) $8D 11.5m3
B 1.00 5,517, 203.00 5,517,203/8.00H / 10H
S (U3 TgEMm(R/Sy FR)) $MD 2000PSE!
B 1.00 427, 818. 00 427,818/2.00H / 8H
MR EXENOY
% 0.50 5,945, 021.00 29, 725
& B YEZERES : 636.00m 3 9, 394. 00 5,974,746
&5 :1-3
B BEEAHQ B BHE KFEI5~30mEKFH 1HHY (636m 3)
2 b g - BIRTE By = B O %8 W E " =
55 JREMEELER) (R/\y FX) $8D 11.5m3
B 1.00 5,517, 203.00 5,517,203 /8. 00H / 10H
S (U S TgEMm(R/Sy FR)) $MD 2000PSE!
B 1.00 427, 818. 00 427,818/2.00H / 8H
MR EXENOY
% 0.50 5,945, 021.00 29,725
& B YEZERES : 636.00m 3 9, 394. 00 5,974,746




Rifiz -/ \v7r—o

HN6FEREMMER(KHEF ~ R8P HhEOMEB(—14m)RETEE2R)

&5 :1-4
& ELBEREO® A B KRR 1HHY (424m 3)
2 b g - BIRTE By = B O %8 W = " =
55 JREMEELER) (R/\y FX) $8D 11.5m3
B 1.00 5,517, 203.00 5,517,203/8.00H / 10H
S (U3 TigEMm(R/Sy FR)) $MD 2000PSE!
B 1.00 427,818.00 427,818/2.00H / 8H
MR EXENOY
% 0.50 5,945, 021.00 29, 725
& B YEZERES : 424.00m 3 14,091. 00 5,974,746
&5 :1-5
B BEEARE B hE  KFEI5~30mEKFH 1HHY (424m 3)
2 b g - BIRTE By = B O %8 W E " =
55 JREMEELER) (R/8y FX) $8D 11.5m3
B 1.00 5,517, 203.00 5,517,203/8.00H / 10H
S (U3 TgEMm(R/Sy FR)) $MD 2000PSE!
B 1.00 427, 818. 00 427,818/2.00H / 8H
MR ELNOY
% 0.50 5,945, 021.00 29, 725
& B YEZERES : 424.00m 3 14,091. 00 5,974,746
&5 :1-6
& U5 TR ELEA) X 1LY
2 b g - BIRTE By = B O %8 W E " =
55 JREMEELER) (R/\y FX) $8D 11.5m3
B 1.00 2,343,910. 00 2,343,910 #£H
S (U S TgEMm(R/Sy FR)) $MD 2000PSE!
B 1.00 239, 610. 00 239,610 #tH
& Hi 1E%Heh - 1.00K 2,583, 520.00 2,583, 520




Rifiz -/ \v7r—o

HN6FEREMMER(KHEF ~ R8P HhEOMEB(—14m)RETEE2R)

&5 :1-1
&% . LEMER TEHAIEAIE 1BHY (457m3)
2 b g - BIRTE By = B ) W = " =
TERR () $M1300m37& (A=)
B 2.00 386, 100. 00 772,200 10H
i £MD 2000PS#Y
B 1.00 498, 148. 00 498,148/2.00H / 10H
B SAISIER
B 1.00 4,372.00 4, 372
MR EXENOY
% 0.50 1,274, 720. 00 6,373
& B 1YE%HEH : 457.00m 3 2,803.00 1,281,093
&5 :1-8
£ ERYEA TEHEAIE 45Tm3& Y (457m 3)
2 b g - BIRTE By = B ) W E " =
EEEMR $AD 70t
B 1.00 673, 039. 00 673,039 5.00H / 10H
B (REZEDHLENES) $MD St
B 1.00 148, 585. 00 148, 585 8H
MR ELNOY
% 0.50 821, 624. 00 4,108
& B 1YE%HESH : 457.00m 3 1, 806. 00 825,732
= :1-9
£ ZVBO-1 437 8EMEELEA) M. 5m3 THB~NEHE (ER) HEED)
2 b g - BIRTE By = B ) W = " =
EX T
= 1.00 260, 976. 00 260, 976
B
= 1.00 1,124, 100. 00 1,124,100
& B 1YEZHEH - 1.00[E 1, 385, 076. 00 1,385,076




Rifiz -/ \v7r—o

HN6FEREMMER(KHEF ~ R8P HhEOMEB(—14m)RETEE2R)

&5 :1-10
B ZVVRED-2 757 BEMEELER) M0 m3 INEB~TEE ER HZED)
£ 5 L - BIRTiE BAf = B & % = & &
B
= 1.00 260, 976. 00 260, 976
BH
= 1.00 1,124,100. 00 1,124,100
& B 1YEZHEH - 1.00[E 1, 385, 076. 00 1,385,076
= 1-11
£ ZLVAEQ-1 LEMI300m3TE (1£5]) EnE~NEE (ER H=EPR)
£ 5 L - IRTiE BAf = B & # = & &
B
= 1.00 138, 189. 00 138, 189
BH
= 1.00 229, 900. 00 229,900
& B 1YEZHER - 1.00[E 368, 089. 00 368, 089
5 :1-12
£ ZVVAEQ-2 LEMI300m3TE (1£35]) MEBE~ERE (ER H=EPR)
£ 5 L - BIRTiE BAf = B & % = ik &
B
= 1.00 138, 189. 00 138, 189
BH
= 1.00 229, 900. 00 229,900
& B 1YEZHER - 1.00[E 368, 089. 00 368, 089
= :1-13
£ ZVVAEQ-1 LEMI1300m3TE (1£35]) EWE~NEE (ER H=EPR)
£ 5 L - BIRTiE BAf = B & % = & &
B
= 1.00 138, 189. 00 138, 189
B#
= 1.00 229, 900. 00 229,900
& B 1YEZHEH - 1.00[E 368, 089. 00 368, 089




RAEFR- BT/ Svr— 64 PR ~ RS M1 4m)R R TEE2R)

&5 :1-14
£ ZVMBOG-2 LEMI1300m3TE (1E€5]) NEHE~FWRHE (EHR HEED
2 b g - BIRTE BT o = BHO(f ® W = " =
EX T
= 1.00 138, 189. 00 138, 189
B
= 1.00 229, 900. 00 229,900
& B 1YEZHEH - 1.00[E 368, 089. 00 368, 089
&5 :1-15
& BEILEREEE 1LY
2 b g - BIRTE BT H = BHO(f ® W E " =
5 fia £MD 300PSEY
B 1.30 155, 658. 00 202, 355 4.00H / 10H
MR ELNOY
% 0.50 202, 355. 00 1,011
& B 1E%HeH - 1.00K 203, 366. 00 203, 366
&5 :1-16
ZF5  FALRERE 1H LY
2 b g - BIRTE BT H = BHO(f ® W E " =
ERIERERE fE LS L—2dd (122 x 22m#R)
= 1.00 1, 2717, 200. 00 1,271, 200
& Hi 1E%HeN - 1. 00& 1, 2717, 200. 00 1,271, 200
&5 . 1-17
%5 FABLREE 1H LY
2 b g - BIRTE BT #H = BHoO(f ® W = " =
EE RS fE LS L—2dd (122 x 22m#R)
= 1.00 1,081, 500. 00 1,081, 500
& Hi 1E%HeN - 1. 00& 1,081, 500. 00 1,081, 500




Rifiz -/ \v7r—o

HN6FEREMMER(KHEF ~ R8P HhEOMEB(—14m)RETEE2R)

&5 :1-18
£ BAMLREHE 1LY
2 b g - BIRTE By = B O %8 W = " =
BB ELro/ L FE BHHRE
= 1.00 1,524, 000. 00 1,524, 000
EEMLEER
= 1.00 2,956, 800. 00 2,956, 800
& Hi 1YE%HeH - 1.00K 4,480, 800. 00 4,480, 800
&5 :1-19
& REERMO EBKIEER 1LY
2 b g - BIRTE By = B O %8 W E " =
ZEEEMm FRP D 180PS#Y
B 5.00 102, 390. 00 511,950 4.00H / 8H
ZEEEMm FRP D 340PS#Y
B 5.00 129, 341.00 646, 705 4. 00H / 8H
EFRVHF & EFEVHF 457
B 5.00 617.00 3,085
MR EXENOY
% 0.50 1,161, 740. 00 5, 808
& B 1E%HeH - 1.00K 1,167, 548. 00 1,167, 548
&5 :1-20
& REERMO B 1LY
2 b g - BIRTE By = B O %8 W E " =
ZEEEMm FRP D 180PS#Y
B 1.00 118, 646. 00 118,646 8. 00H / 10H
ZEEEMm FRP D 340PS#Y
B 1.00 147, 823.00 147,823 8.00H / 10H
EFRVHF &1 EFEVHF 457
B 1.00 617.00 617
MR EXENOY
% 0.50 267,086. 00 1,335
& B 1E%HeH - 1.00K 268, 421. 00 268, 421




Rifiz -/ \v7r—o

HN6FEREMMER(KHEF ~ R8P HhEOMEB(—14m)RETEE2R)

&5 :1-21
& REERMO LEMERE 1LY
2 b g - BIRTE By = B O %8 W = " =
ZEEEMm FRP D 180PS#Y
B 1.00 118, 646. 00 118,646 8. 00H / 10H
MR EXENOY
% 0.50 118, 646. 00 593
& B 1YE%HeH - 1.00K 119, 239. 00 119, 239
&5 :1-22
2 LIMRO  BKIEER 1LY
2 b g - BIRTE By = B O %8 W E " =
L3RR FRP D 340PS#Y
B 10. 00 130, 613. 00 1,306, 130 8H
EFRVHF & EFEVHF 457
B 10. 00 617.00 6,170
MR EXENOY
% 0.50 1, 312, 300. 00 6, 561
& B 1E%HeH - 1.00K 1,318, 861. 00 1,318, 861
&5 :1-23
B RIRAMRQ B 1LY
2 b g - BIRTE By = B O %8 W E " =
L3RR FRP D 340PS#Y
B 2.00 147, 823.00 295, 646 10H
EFRVHF &1 EFEVHF 457
B 2.00 617.00 1,234
MR EXENOY
% 0.50 296, 880. 00 1,484
& B 1E%Heh - 1.00K 298, 364. 00 298, 364




RifiF-ET/ 75— SH6EEBEFIMBKER ~ REREF thEOMBE(-14m)R B TH(E2R)

&5 :1-24
B BRAE 1THHY (22.44h3)
2 b g - BIRTE BT o = B O ® W = " =
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 55, 103. 00 55,103 8H
RIS HRER
A 1.00 47,100. 00 47,100
Bl S H A
A 1.00 36, 900. 00 36, 900
BEBF
A 1.00 34, 600. 00 34, 600
MR 2E0%
% 1.00 177,021.00 1,770
& B YEZRES : 22. 40t = 7,981.00 178, 791
&5 :1-25
&% . BKEE 1B%HY (386.4m2)
2 b g - BIRTE BT H = B O ® W = " =
Bk D 270PSE! 3~5tH
B 1.00 181, 898. 00 181, 898 8H
HEEEE Bk 203!
B 1.00 19, 305. 00 19, 305
MR 2E0%
% 3.00 201, 203. 00 6, 036
& B YEZERES : 386.40m 2 536. 00 207, 239




Rifiz -/ \v7r—o

HN6FEREMMER(KHEF ~ R8P HhEOMEB(—14m)RETEE2R)

&5 :1-26
£ MESERK 1LY
2 b g - BIRTE By = B O ® # " =
BIEFEHEM
A 0.50 54, 600. 00 217,300
RIS HRER
A 1.00 47,100. 00 47,100
Bl S H A
A 1.00 36, 900. 00 36, 900
MR 2E0%
% 0.50 111, 300. 00 556
& B 1YE%HeH - 1.00K 111, 856. 00 111, 856
&5 . 1-21
2% EBHRRA 1LY
2 b g - BIRTE By = B O ® # " =
EBHRERERE
= 1.00 200, 000. 00 200, 000
& Hi S .00 200, 000. 00 200, 000
&5 :1-28
& KERRHED V5 TRER 1LY
2 b g - BIRTE By = B O ® # " =
KEREF
= 1.00 33, 118. 00 33,118
& Hi 1E%HeRH - 1.00K 33, 118. 00 33,118
&5 :1-29
& KERIRFEQ B LIEM1300m37E 1LY
2 b g - BIRTE By = B Ol ® # " =
KEREF
= 1.00 9, 090. 00 9,090
& Hi 1E%HeH - 1.00K 9, 090. 00 9,090




Rifiz -/ \v7r—o

HN6FEREMMER(KHEF ~ R8P HhEOMEB(—14m)RETEE2R)

&5 :1-30
& KERRHOQ FBKLIMxTE 1LY
2 b g - BIRTE By = BHO(f %8 # i
KEREF
= 1.00 31, 818. 00 31,818
& Hi 1YE%HeRH 1,00 31, 818. 00 31,818
&5 :1-31
B BEREE BT GBKEE) xTA 1LY
2 b g - BIRTE By = BHO(f %8 # i
SEREH
= 1.00 28, 636. 00 28, 636
& Hi 1E%HeH - 1.00K 28, 636. 00 28, 636
&5 :1-32
2% HiTEEE EREDRFAEXIIE 1LY
2 b g - BIRTE By = BHO(f %8 # i
HREINAE
I=E 1.00 100, 000. 00 100, 000
& Hi 1E%HeH - 1.00K 100, 000. 00 100, 000
&5 :2-1
£ %5 BI= %4 (1CT) 1LY
2 b g - BIRTE By = BHoO(f %8 # i
BIEFEHEM
A 1.00 54, 600. 00 54, 600
RIS HRER
A 1.50 47,100. 00 70, 650
Bl S H A
A 1.00 36, 900. 00 36, 900
BEBF
A 0.50 34, 600. 00 17, 300
MM ELNOY
% 1.00 179, 450. 00 1,794
& B 1E%HeH - 1.00K 181, 244.00 181, 244

10




Rifiz -/ \v7r—o

HN6FEREMMER(KHEF ~ R8P HhEOMEB(—14m)RETEE2R)

&5 :2-2
ZFF  WMIERAO) RBI 15ty
2 b g - BIRTE By = B ® W = " =
BIEWHEE
A 2.00 25,900. 00 51,800
FSvo 2tiE
B 1.00 29, 283. 00 29,283/4.70H / 8H
MR 2E0%
% 1.00 81, 083. 00 810
& B 1YE%HeH - 1.00K 81, 893. 00 81,893
&5 :2-3
ZFF  WMIER Q) BRI 14y
2 b g - BIRTE By = B ® W E " =
BIEHEE
A 2.00 25,900. 00 51,800
FSvo 2tiE
B 1.00 29, 283. 00 29,283/4.70H / 8H
MR ELNOY
% 1.00 81, 083. 00 810
& B 1E%HeH - 1.00K 81, 893. 00 81, 893

11




Rifiz -/ \v7r—o

HN6FEREMMER(KHEF ~ R8P HhEOMEB(—14m)RETEE2R)

&S24
£ BETXMICT) (1) HBIm IEED)
£ 5 L - BIRTiE BAf = B %5 M = 1%
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
B2 FEHER
A 1.00 54, 600. 00 54, 600
RIS HRER
A 1.50 47,100. 00 70, 650
B
A 1.50 36, 900. 00 55, 350
BEENF
A 1.00 34, 600. 00 34, 600
BIEf FRP D 70PSZE!
B 1.00 53,111.00 53,111 8H
GNSS;BIfI & DGNSS
B 1.00 25,575.00 25,575
TILF E—LEEBIFEE 36~455kHz
B 1.00 338, 250. 00 338, 250
HEMH 2EDY
% 1.00 635, 454. 00 6, 354
& B 1E%HeH - 1.00K 641, 808. 00 641, 808

12




Rifiz -/ \v7r—o

HN6FEREMMER(KHEF ~ R8P HhEOMEB(—14m)RETEE2R)

&S :25
A BBETRXKIC (2) BIK 1%y
2 b g - BIRTE By = B ) W = i
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
BIEFEHEM
A 1.00 54, 600. 00 54, 600
RIS HRER
A 1.50 47,100. 00 70, 650
Bl S H A
A 1.50 36, 900. 00 55, 350
BEENF
A 1.00 34, 600. 00 34, 600
BIEf FRP D 70PSZE!
B 1.00 53,111.00 53,111 8H
GNSS;BIfI & DGNSS
B 1.00 25,575.00 25,575
TILF E—LEEBIFEE 36~455kHz
B 1.00 338, 250. 00 338, 250
MR 2E0%
% 1.00 635, 454. 00 6, 354
& B 1E%HeH - 1.00K 641, 808. 00 641, 808
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Rifiz -/ \v7r—o

HN6FEREMMER(KHEF ~ R8P HhEOMEB(—14m)RETEE2R)

&S :2-6
L% RAEEJCT) (1) #EIE 1HHY (1.1Tkm2)
£ 5 L - BIRTiE BAf = B %5 = & &
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 53,111.00 53,111 8H
B2 FEHER
A 1.00 54, 600. 00 54, 600
RIS HRER
A 1.00 47,100. 00 47,100
B
A 1.00 36, 900. 00 36, 900
BEENF
A 0.50 34, 600. 00 17, 300
GNSS;BIfI & DGNSS
B 1.00 25,575.00 25,575
TILF E—LEEBIFEE 36~455kHz
B 1.00 338, 250. 00 338, 250
HEMH 2EDY
% 2.00 576, 154. 00 11,523
& B 1E%EfEN 1. 10km 2 534, 251. 00 587,671
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Rifiz -/ \v7r—o

HN6FEREMMER(KHEF ~ R8P HhEOMEB(—14m)RETEE2R)

&5 :2-1
L% BEEACT) ) H®I 1B%Y (0.27km?2)
2 b g - BIRTE By = B O ® W = " =
REE S4 kY 2L
B 1.00 3,318.00 3,318/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 53,111.00 53,111 8H
BIEFEHEM
A 1.00 54, 600. 00 54, 600
RIS HRER
A 1.00 47,100. 00 47,100
Bl S H A
A 1.00 36, 900. 00 36, 900
BEBF
A 0.50 34, 600. 00 17, 300
GNSS;BIfI & DGNSS
B 1.00 25,575.00 25,575
TILFE—LBERZEE 36~455kHz
B 1.00 338, 250. 00 338, 250
MR 2E0%
% 2.00 576, 154. 00 11,523
& B EEREN :0.27Tkm 2 2,176, 581.00 587,671
&5 :2-8
& BIBT—2FE(CT) (1) EIm 14y
2 b g - BIRTE By = B Ol ® W E " =
BIEFEHEM
A 3.10 54, 600. 00 169, 260
RIS HRER
A 4.10 47,100. 00 193, 110
Bl S H A
A 6. 20 36, 900. 00 228, 780
MR 2E0%
% 4.00 591, 150. 00 23, 646
& B 1E%HeH - 1.00K 614, 796. 00 614, 796
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Rifiz -/ \v7r—o

HN6FEREMMER(KHEF ~ R8P HhEOMEB(—14m)RETEE2R)

&5 :2-9
B BIBT—2RE(GRET) (ICT) 2) BRI 14y
2 b g - BIRTE By = BHO(f %8 # " =
BIEFEHEM
A 5.10 54, 600. 00 2178, 460
RIS HRER
A 14.40 47,100. 00 678, 240
Bl S H A
A 13. 60 36, 900. 00 501, 840
MR 2E0%
% 4.00 1, 458, 540. 00 58, 341
& B 1YE%HeH - 1.00K 1,516, 881. 00 1,516, 881
&5 :2-10
2% EBHRRA 1LY
2 b g - BIRTE By = BHO(f %8 # " =
EBHRERERE
= 1.00 100, 000. 00 100, 000
& Hi 1E%HeH - 1.00K 100, 000. 00 100, 000
&5 : 3-1
ZFF : SRITEET T — R HERK (ICT) s EP
2 b g - BIRTE By = BHO(f %8 # " =
F{EHRAR (F%ET)
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.50 57, 000. 00 85, 500
e (B)
A 1.50 47, 200. 00 70, 800
AR (C)
A 1.00 38, 400. 00 38, 400
& Hi 1E%HEDN 1. 005EER 259, 500. 00 259, 500
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RiEFR-FET/\vr—2 SH6EEBPIMBEREF ~ REREF 1 EOMBE-14m)R R TE(E2R)

&S 32
&% EHARE
£ 5 L - BIRTiE BAf % = B & % = & &
EHXARE
= 1.00 7,785.00 7,785
& Hi 1YE%HeRH 1,00 7,785.00 7,785
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